Given:
Footing on layered soil (Figurel). Determine the total settlement of the footing. The
consolidation test on a soil sample obtained from the clay layer is shown in Figure 2.

Figure 1 Qdesig/11 = IOOICZPS

Soil Sample depth = 7‘%

Hq]ay

Questions:

1- Is the clayey soil normally consolidated or overconsolidated soil

2- If the water table dropped from 3 ft to 5ft what would be the effect of this drop on the
settlement of the foundation.
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What is the settlement of the foundation after 3 years from the end of construction.
Take C, = 0.004087 ft?/hr



Dr. Tawfiq
Text Box
What is the settlement of the foundation after 3 years from the end of construction.
Take Cv = 0.004087 ft2/hr





